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1. Find the Polar coordinates of the following point: 

a) (5,9) 

 

 

 

 

 

b) (5, -12) 

 

 

 

 

 

c) (−√3, −1) 

 

 

 

 

 

2. Convert the following Polar coordinate into Cartesian form. 

a) (10,  
4𝜋

3
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b) (8,  
2𝜋

3
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3. Find a Cartesian equation of the following curve: 

a) 𝑟 = 5 

 

 

 

 

 

b) 𝑟 = 6𝑐𝑜𝑠𝑒𝑐𝜃 

 

 

 

 

 

 

 

c) 𝑟 = 2 + 𝑐𝑜𝑠2𝜃 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



d) 𝑟2 = 𝑆𝑖𝑛2𝜃,  0 < 𝜃 <
𝜋
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4. Find a Polar equivalent for the following Cartesian equation: 

a) 𝑦2 = 4𝑥 

 

 

 

 

 

 

 

 

(𝒙𝟐 + 𝒚𝟐)
𝟑
𝟐 = 𝟑𝒙𝟐 + 𝒚𝟐 (𝒙𝟐 + 𝒚𝟐)𝟐 = 𝟐𝒙𝒚 



b) 𝑥2 − 𝑦2 = 5 

 

 

 

 

 

 

 

 

 

c) 𝑦√3 = 𝑥 + 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


